
1 .Daily Calculations Questions

1 2 3

18 + 7 = 14 x 10 = 159 – 102 =

16 – 6 = 713 – 22 = 111 – 49 =

23 – 7 = 82 + 10 = 9 x 4 = 

40 divided by 5 = 12 divided by 4 = 182 + 30 =

10 x 5 = 605 – 100 = 20 divided by _ = 10



1. Daily Calculations Answers

1 2 3

18 + 7 = 25 14 x 10 = 140 159 – 102 =57

16 – 6 = 10 713 – 22 = 691 111 – 49 = 62

23 – 7 = 16 82 + 10 = 92 9 x 4 = 36

40 divided by 5 = 8 12 divided by 4 = 3 182 + 30 = 212

10 x 5 = 50 605 – 100 = 505 20 divided by 2 = 10



2. Daily Calculations Questions

1 2 3

10 - _ = 0 ½ of 100 49 divided by _ = 7

7 + 7 + 3 = _ + 30 = 85 65 + 15 =

4 x 12 = 1 /4 + 3/4 = 27 + _ = 105

40 + _ = 100 _ - 15 = 60 48 divided by _ = 8

8 x 5 = 15 divided by 3 = 176 – 105 =



2. Daily Calculations Answers

1 2 3

10 - 10 = 0 ½ of 100 = 50 49 divided by 7 = 7

7 + 7 + 3 = 17 55 + 30 = 85 65 + 15 = 80

4 x 12 = 48 1/4 + 3/4 = 1 27 + 78 = 105

40 + 60 = 100 75 - 15 = 60 48 divided by 12 = 8

8 x 5 = 40 15 divided by 3 = 5 176 – 105 = 71



3. Daily Calculations Questions

1 2 3

100 - _ = 61 136 – 88 = _ - 60 = 120

10 + 24 + 11 = 216 + 361 = 2/6 of 18 =

½ of 40 = 521 – 132 = 3/11 + 5/11 =

40 – 12 – 2 = 6 x 5 = _ x 4 = 24 

11 + 26 = 7/9 – 2/9 = 360 – 86 =



3. Daily Calculations Answers

1 2 3

100 - 39 = 61 136 – 88 = 48 180 - 60 = 120

10 + 24 + 11 = 45 216 + 361 = 577 2/6 of 18 = 12

½ of 40 = 20 521 – 132 = 389 3/11 + 5/11 = 8/11

40 – 12 – 2 = 16 6 x 5 = 30 6 x 4 = 24 

11 + 26 = 37 7/9 – 2/9 = 5/9 360 – 86 = 274



4. Daily Calculations Questions

1 2 3

21 divided by 3 = _ + 35= 120 634 + 64 =

31 + 41 = 496 – 46 = 562 + 315 =

42 + 22 = 341 + 105 = 894 – 95 =

¾ of 40 = 30 divided by 2 = 1/5 of 50 =

35 + 18 = 100 divided by 5 = 8 x 6 =



4. Daily Calculations Answers

1 2 3

21 divided by 3 = 7 85 + 35= 120 634 + 64 = 698

31 + 41 = 72 496 – 46 = 450 562 + 315 = 877

42 + 22 = 64 341 + 105 = 446 894 – 95 = 799

¾ of 40 = 30 30 divided by 2 = 15 1/5 of 50 = 10

35 + 18 = 53 100 divided by 5 = 20 8 x 6 = 48



5. Daily Calculations Questions

1 2 3

30 divided by 3 = 97 – 17 = 278 – 119 = 

¼ of 20 = 36 + 32 = 586 + 151 =

72 – 10 = 7 x 4 = 1 – 2/13 = 

19 + 19 = _ x 4 = 16 100 x 3 =

2/3 of 3 = 18 divided by 6 = 339 + 258 =



5. Daily Calculations Answers

1 2 3

30 divided by 3 = 10 97 – 17 = 80 278 – 119 = 159

¼ of 20 = 4 36 + 32 = 68 586 + 151 = 737

72 – 10 = 62 7 x 4 = 28 1 – 2/13 = 11/13

19 + 19 = 38 4 x 4 = 16 100 x 3 = 300

2/3 of 3 = 2 18 divided by 6 = 3 339 + 258 = 597


